CCNA 2 Module 6 Exam Picture Descriptions.

Assuming that the network shown in the graphic is converged and dynamic routing is enabled
Diagram depicts 2 routers, Orlando and Tampa. Orlando has 2 ethernet connections, E0 and E1. Serial S0 on Orlando connects to S0 on Tampa. Tampa also has 2 ethernet connections, E0 and E1.

Which of the following are valid

Diagram depicts 3 routers A,B and C

Router A has an Ethernet network with IP address 192.168.1.0/24

Router A serial 0 with IP address 199.168.2.1/24 connects to router B serial 1, IP address 192.168.2.2/24.

Router B has an Ethernet network with IP address 192.168.3.0/24

Router B serial 0 with IP address 199.168.4.1/24 connects to router c serial 1, IP address 192.168.4.2/24.

Router C has an Ethernet network with IP address 192.168.5.0/24

Referring to the diagram, which commands will enable hosts

Diagram depicts 3 routers, Utah, Idaho and Montana

Utah has Ethernet 0 IP address  172.31.1.1/24 and serial 0 IP address 172.31.2.1/24 connecting to Idaho serial 1, IP address 172.31.2.2/24.

Idaho has Ethernet 0 with IP address  172.31.3.1/24 and serial 0 IP address 172.31.4.1/24 connecting to Montana serial 1, IP address 172.31.4.2/24.

Montana has Ethernet 0 with ip address 172.31.5.1/24

End of module picture descriptions

